













































































































































































































































































funcrion name

xo= 1;

x = fsolve(@myfun,x0)

end



function fval = myfun(x)

fval = 5-x^2

end





options =optionset(display,iter,tolfun, 1e, tolx, 1e);

[x,fval,exitflag] = fsolve(myfun,xo,options);















u=x(1)   y=(x(2)

x = sin(u) + v y= tan 


